10.

12.

CHCI, + Cly —— CCl4 + HCI
Rate law for above reaclion willbe
1

)

(c)
(d)

)
(c)

option will be correct ?

Rate law for a chemical reaction has 1o determine

(c)
balanced chemical reaction, raie law will be same.

(a) Activation cnergy for the forward reaction cquals to
increascs the reaction rate lor botlr the forward and the
order reaction, the shorier is its hallf=lifc,

In a reaction A -» Products, when stact is made fom

becomes 240 minute The order of the reaction is :

() cncrpy is always relcased

(iv) rcactanis may be formed

Which of the following statements is incorrect ?

Peak of the encrgy distribution curve corresponds o
the most probable Kineclic enerpy.

(d)

broadens oul.
(b) decreasing internal energy

Rate= k[CHCly)[Clz 2
Onihc basis of information provided which ofthe following,
(a) Rate law lor any chemical reaction can be predicied
accurately by looking a1 balanced chemical equation.
(b)
experimentally
Either determined experimentally or obtained fiom
(d) None of the above is correcl.
Which of the following statcments is incorrect?
activation cncrgy for the reverse reaction
For a reversible reaction, an imcrease in lemperature
backwardrcaction
The larger the initial reactant comcentration for a scoond
When Atis infinitesimally small, the average rate equals
the instantaneous rate
8.0x 100 2M of A, half-lifc is found 10 be 120 minutc. For the
initial concentration 4.0 x 10-2 M, thehalflife of thereaction
{a) zero (b) ome (¢c) two (d) 05
During decomposition of an activated complex.
(i) cnergy 1s always absorbed
(i) cncrgy docs not change
(a) (i), (i) and(iii) (b) (Nand(iv)
(©) (u)and(ii) (d) (i), (iii) and (iv)
(a) Energy is always released when activated complex
decomposes (o fom: products.
the most probable potential energy.
Peak of the energy distribution curve corresponds o
When the temperature is raised inaximum of energy
distribution curve moves to higher energy value and
A catalyst increases ralc of reachon by
(a) dccrcasing cnthalpy
(c) decrcasmg aclivalion Cnergy
(d)  mcreasing acuvanon cnerpy

13.

14.

16.

17,

19,

21.

Consider a rcaction a6 + bH — Products. When
concentration of both the reacianis Gand His doubled, the
rate increases byeighttimes However, when concentration
of (i is doubkd kceping the concentration of H lixcd, the
raic is doubled. The overall arder of the reaction is

{a) 0 i 1 (c) 2 @ 3

For a firstorder reaction (A) --» products the concentration
of Achanges from 0.1 M 1o 0.025 M in 40minules.

The rate of reaction when the concentration of A is 0.01 Mis :

(@) 1.73x10°W/mn  (b) 3.47% 10" MAnin

(€) 347x 103 Mmun (d 1.73%10-*M/min

The given reaction

2FeCl, +SnCl, ——2FeCl, +SnCl,

isan cxample mz

{a) lirsi order rcaction {b) sccond order reaction
(c) thirdorderreaction (d) None of these

In a lirst-order reaction A —» B, ifk is raic constantand inital

conceniration of the reactant Ais 0 5 M, then the hali-lifcis

@ g2 ®) %HZ-
K k0.5

in2 0693
) — d) ——
©) = @ 5
The imtegrated rate cquations can be determined for
{a) rcroorder rcactions (b)Y  lirst order reaclions

{c) second order reactions (d) Both (a) and (b)

Thcratc constant, the activation cncrgy and the arrhenius

paramcicr ol a chemical reaction a1 25°Care3.0 x 10-4s-!,

104.4kJmot ' and 6.0 = 10" s ¥ respectively: The valuc of

theratecanstant as T > w0 is

@ 2.0x 0%t (b) 60x 10!

{c) Infinity (d) 3.6x10MWg!

According 1o the adsorption theory of catalysis, the speed

of the reaction increascs because

(a) inthc process of adsorption, the aclivation encrgy of
the molecules becomes large

(b) adsorption produces hear which increases the speed
of the reaction

{c) adsorption lowers the activation encrgy of the reaction

(d) the concentration of product molecules al the aclive

centres of the catalyst becomnes high duc to adsorplion.

Consider a general chenical change 2A + 3B — produclts.

The rate with respect 10 A is ) and that with respect 10 Bis

r,. Theratesr, andr, arerelated as

(@ 3r,=2r, ) r=r,

(©) 2r,=3r, @ -2

Ina first order reaction, the concentration of the reactant,
decreases from0.8 M 100 AM iy | Simmutes. The time taken
for the concentration to change from 0.1 Mo 0.025M is
Gy 7 Snunutes {(h) 1S mimnces

(CF 3 mnates (4 oDnnates




